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QUESTION 1

An architect is considering placement of virtual machines within an existing VMware software-defined data center
(SDDC).

During the discovery phase, the following information is documented:

Cluster One Six ESXi hosts vSphere HA with host failures cluster tolerates = 1 Proactive HA is enabled and set to
automated Fully Automated vSphere DRS Transparent Page Sharing (TPS) is enabled

Cluster Two Eight ESXi hosts vSphere HA with host failures cluster tolerates = 1 Proactive HA is disabled Partially
Automated vSphere DRS Transparent Page Sharing (TPS) is disabled

Cluster Three Three ESXi hosts vSphere HA with admission control is disabled Proactive HA is not supported
Transparent Page Sharing (TPS) is disabled

Virtual Machine Resource Profile 1 Memory sharing techniques should not be used Virtual machines should be
automatically restarted in the event of host failure if resources are available Automated initial virtual machine placement

Virtual Machine Resource Profile 2 Memory sharing techniques can be used Virtual machines should be protected from
any host hardware failures Automated initial virtual machine placement Which two recommendations should the
architect make for placement of the virtual machines to meet resource profile requirements? (Choose two.)

A. All virtual machines matching Virtual Machine Resource Profile 2 should be placed on Cluster One.

B. All virtual machines matching Virtual Machine Resource Profile 1 should be placed on Cluster One.

C. All virtual machines matching Virtual Machine Resource Profile 2 should be placed on Cluster Two.

D. All virtual machines matching Virtual Machine Resource Profile 1 should be placed on Cluster Two.

E. All virtual machines matching Virtual Machine Resource Profile 2 should be placed on Cluster Three.

Correct Answer: BD

QUESTION 2

The architect for a large enterprise is tasked with reviewing a proposed design created by a service partner.

Which design elements are expected to be detailed within the physical design section of the documentation?

A. A design diagram illustrating the configuration and specific attributes, such as IP addresses

B. A list of requirements, constraints, and risks

C. A solution architecture diagram with the components and data flow

D. An entity relationship diagram describing upstream and downstream dependencies for specific service components

Correct Answer: B
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QUESTION 3

The Chief Information Security Officer (CISO) for an organization is concerned about the security posture of the
operating system images that are used for the provisioning of their Software-as-a-Service (SaaS) applications. The
organization is in a growth period. The organization is opening a new data center to

launch its next phase of new SaaS-based solutions.

The DevOps team currently creates encrypted virtual machine (VM) templates that are used for various
operating systems and adds these to the vSphere inventory. The DevOps team already uses a published
content library and has been granted a role with the ability to add and delete library items.

The following requirements have been noted:

Impacts to the DevOps team\\'s operational processes must be kept to a minimum.

The DevOps team must be able to regularly check out a copy of the image for updates and check in a new
version of the image.

Images must be synchronized from the primary data center to the new data center.

Which three recommendations should the architect make to design a content library solution that will meet
these requirements? (Choose three.)

A. Clone virtual machines as VM templates to the published content library

B. Create a subscribed library from the published library and synchronize Open Virtualization Format (OVF) templates
on-demand

C. Create a subscription and publish VM templates to a subscribed content library

D. Create a subscribed library from the published library and synchronize Open Virtualization Format (OVF) templates
automatically

E. Clone virtual machines as Open Virtualization Format (OVF) templates to the published content library
F. Update the role for the DevOps team with new privileges

Correct Answer: BEF

QUESTION 4
An architect is designing the expansion of an existing vSphere 7 environment. The customer is requesting
a design for a new cluster to support the anticipated future business growth. The requirements specified

for the existing environment design must be considered when designing the new cluster.

3V0-21.21 PDF Dumps | 3V0-21.21 VCE Dumps | 3V0-21.21 Study Guide 3/9


https://www.pass2lead.com/3v0-21-21.html
https://www.pass2lead.com/3v0-21-21.html
https://www.pass2lead.com/3v0-21-21.html

P 2L d https://lwww.pass2lead.com/3v0-21-21.html
ass ea 2023 Latest pass2lead 3V0-21.21 PDF and VCE dumps Download

—— https://Pass2Lead.com

The existing design has the following requirements:

REQO1 The environment has an availability target of 99.5% for all infrastructure.
REQO2 The recovery time objective (RTO) for Tier 1 virtual machines is one hour.
REQO03 Windows and Linux virtual machines must reside on separate clusters.
REQO4 Access to the management cluster within the environment must be controlled.
Which of the listed requirements would be classified as a functional requirement?

A. The environment has an availability target of 99.5% for all infrastructure

B. The recovery time objective (RTO) for Tier 1 virtual machines is one hour

C. Access to the management cluster within the environment must be controlled

D. Windows and Linux virtual machines must reside on separate clusters

Correct Answer: A

QUESTION 5

A customer defines a requirement to minimize the vMotion migration time during a maintenance period. The servers
being used are equipped with eight 1 GbE network adapters.

Per the defined logical network configuration, there are two network adapters each used for:
Management traffic vMotion traffic iISCSI traffic Virtual machine traffic

Which design decision should the architect make to meet the customer requirement?

A. Use Network I/O Control to define a reservation for vMotion traffic.

B. Implement Multi-NIC vMotion by adding additional vMotion VMkernels.

C. Configure a dedicated TCP/IP stack for vMotion traffic.

D. Combine vMotion and Management traffic to make use of four adapters.

Correct Answer: A

QUESTION 6
Which of the listed requirements would be classified as a recoverability non-functional requirement?
A. The platform must be integrated with existing change control policies.

B. The platform must be able to support a maximum tolerable downtime (MTD) of 30 minutes.
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C. Maintenance windows must be scheduled to take place monthly during an established overnight period.
D. The platform must be available 24 hours a day, 7 days a week with the exception of scheduled downtime.

Correct Answer: A

QUESTION 7

The Chief Operating Officer (COQ) at an organization raises concerns that their virtual infrastructure environment is
vulnerable. Recently, a security-related issue with a virtual machine caused all management services to become
unavailable. No budget is available in the short term for additional platform investment. An architect is asked to review
the current environment and make recommendations to mitigate concerns.

A virtualization administrator has provided the following details: There is a single four node cluster of ESXi servers
There are two, Layer 2, physical network switches connecting resources The data center network is presented as a
single /16 subnet

Given the information provided, which functional requirement should the architect include in the design to mitigate the
COGOs concerns?

A. The virtual infrastructure environment must connect application virtual machines and management services to new
physical network switches

B. The virtual infrastructure environment must connect application virtual machines and management services to
separate distributed virtual switches (DVS)

C. The virtual infrastructure environment must connect application virtual machines and management services to
separate VLANs

D. The virtual infrastructure environment must connect management services to a vSphere standard switch (VSS)

Correct Answer: D

QUESTION 8

Which requirement would be classified as a functional requirement within the design documentation?
A. The system must perform virtual machine backups through an API.

B. Virtual machines must be patched within one month of the patch release date.

C. Virtual machines must be restarted within 30 minutes of a host failure.

D. The system must be able to scale to support 500 concurrent virtual machines.

Correct Answer: C
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QUESTION 9

An architect makes the design decision to install ESXi on embedded and resilient 8 GB SD cards. What is the impact of
this design decision?

A. Host profiles must be used for this kind of installation

B. Scratch partition would need to be created on the external storage

C. The size of the SD cards is too small and the installation will fail

D. The vSphere Auto Deploy feature must be enabled on vCenter Server

Correct Answer: A

QUESTION 10
An architect is planning the physical server configuration for a vSAN-based infrastructure.

Which operations mode should a RAID controller support to minimize potential server downtime during physical disk
failures?

A. RAID controller with Passthru mode

B. RAID controller with RAID 5 mode

C. RAID controller with RAID 10 mode

D. RAID controller with RAID 6 mode

Correct Answer: D

Reference: https://docs.vmware.com/en/VMware-vSphere/7.0/vsan-702-planning-deployment-guide.pdf

(25)

QUESTION 11

During a requirements gathering workshop to design a physical to virtual migration, the customer provides
the following information:

There is no physical firewall in the data center with no anticipated plans for a future network refresh.
Leveraging the virtual infrastructure to mitigate the lack of network security must be addressed in the
design.

All physical servers to be migrated exist on the same VLAN.

Which recommendation should the architect make to address the customer requirement with regard to

virtual networking?
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A. Split the virtual machines into several VLANs Use tag actions

B. Create port groups with different names and same VLAN IDs Enable traffic shaping for ingress and egress traffic
C. Enabile traffic filtering and marking Use allow or drop actions

D. Disable traffic filtering and marking Use tag actions

Correct Answer: A

QUESTION 12

An architect is designing a new VMware software-defined data center (SDDC) that will consist of 100 branch sites
connected to a single VMware vCenter Server within the primary data center. To allow for the use of existing automation
scripts, there is a requirement to replicate the names of the virtual distributed port groups across all sites. The
procurement team purchases licensing and there is no further budget allocated.

Which design decision should the architect make to meet this requirement?

A. A new vCenter Server will be deployed for each branch site

B. A new host and cluster folder will be created for each branch site

C. The automation script will be updated to reflect unique naming for each site

D. A new virtual data center will be created for each branch site

Correct Answer: B

QUESTION 13

An architect will be taking over control of a former Linux server fleet and repurposing the hardware into a new vSphere
cluster. The current environment is already connected to the network but the hosts do not have any local disks. Since
the fleet hardware is uniform, the architect can use a single ESXi image. All hosts within the cluster have the same CPU
and memory capacity.

Which ESXi deployment method should the architect use?

A. Stateless cached vSphere Auto Deploy

B. Stateless vSphere Auto Deploy

C. Manual install of each ESXi host with an image from USB

D. Stateful vSphere Auto Deploy

Correct Answer: A

QUESTION 14

Refer to the exhibit.

3V0-21.21 PDF Dumps | 3V0-21.21 VCE Dumps | 3V0-21.21 Study Guide 719


https://www.pass2lead.com/3v0-21-21.html
https://www.pass2lead.com/3v0-21-21.html
https://www.pass2lead.com/3v0-21-21.html

P 2L d https://lwww.pass2lead.com/3v0-21-21.html
ass ea 2023 Latest pass2lead 3V0-21.21 PDF and VCE dumps Download
—— https://Pass2Lead.com

During a requirements gathering workshop, a customer shares the following diagram regarding their availability service-
level agreements (SLAS):

N
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- VMs VMs
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b4 Applications General
VMs Purpose VMs
SLA 99.99 SLA 99.9
J

ESXi Host [01] ESXi Host [02]

The customer states that there is no application level availability for legacy applications.

Which recommendation could the architect make to meet the customer\\'s high availability requirements for the legacy
applications virtual machines?

A. Enable vSphere HA and add a VM Override with VM Restart Priority set to Disabled
B. Enable Fault Tolerance

C. Achieve application availability with snapshots

D. Enable vSphere HA and add a VM Override with VM Restart Priority set to Lowest

Correct Answer: A

QUESTION 15

A customer is deploying a new cluster and wants to be able to patch and update two hosts in parallel. The cluster must
be able to maintain N+1 resiliency across the remaining hosts while patching activities are performed. The current
expected utilization of the platform requires a minimum of two hosts to support all of the virtual machines.

What is the minimum number of hosts the customer will require in the cluster in order to meet the required resiliency
level?

A. Five
B. Six

C. Four
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D. Seven

Correct Answer: C
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